
Математика



43   34

� 43   
� 34
� 43 > 34



5 cм

5 + 6 + 4 = 15

5 
cм

6 
см

4 
см



10, 5, 7, 3

� 3 + 7 = 10
� 7 + 3 = 10
� 10 – 3 = 7
� 10 - 7 = 3

10 – 3 = 73 + 7 = 10

10 – 7 = 37 + 3= 10



� из числа 10 вычесть 5 и прибавить 2. 
� 10 – 5 + 2 = 7
� из числа 10 вычесть сумму чисел 5 и 2 
� 10 – 5 + 2 = 3



Порядок действий

                               1       2

� 10 – 5 + 2 = 7
                                         2         1

� 10 – 5 + 2 = 3(5+2
)



Правило

Действия, записанные в 
скобках, выполняют 

первыми.

Порядок действий 


